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$¢define REMOTEXY MODE SOFTSERIAL A

#¢include <Servo.h>

$include "I2Cdev.h"
#$include <SoftwareSerial.h>
$include <RemoteXY.h>

#include "MPU€050_6Axis MotionApps20.h"
$if I2CDEV_IMPLEMENTATION == I2CDEV_ARDUINO WIRE @ coms = a X

$¢include "Wire.h"
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$endif

Initializing I2C devices...
MPU60S0 mpu; Testing device connections... D}
MPU&6050 connection successiul

#define OUTPUT_RERDRBLE YAWFITCHROLL Send any character to begin DMP programming and demo:

/ use pin 2 on Arduino Uno & most |
#¢define LED PIN 13 // (Arduino is 13, Teensy is 11, Teensy++
bool blinkState = false;

// MPU control/status vars
bool dmpReady = false; // set true if DMP init was successfy
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m

uintZ_t mpulntStatus; // holds actual interrupt status byt
uint3_t devStatus; // return status after each device oOf

uintlé_t packetSize; // expected DMP packet size (default
uintlé_t fifoCount; // count of all bytes currently in F]
uintg_t fifoBuffer[64]; // FIFO storage buffer
Servo ml;
Servo m2;
Servo m3;
Servo mé;
orientation/motion vars NS A3E [JEIUAME F A M= v 115200 EEHDIE =5 127
Quaternion q; / [w, X, ¥, 2] quaternion contaliner
VectorIntle aa; [ [X, ¥, Z] accel sensor measurements
VectorIntlé aaReal; /[, ¥, Z] gravity-free accel sensor measurements
VectorIntle aaWorld; /! [X, ¥, Z] world-frame accel sensor measurements
VectorFloat gravity; [l [X, ¥, Z] gravity vector
float euler([3]; // [psi, theta, phi] Euler angle container
flcat ypr(3]: // [yaw, pitch, roll] yaw/pitch/roll container and gravity vector

// packet structure for InvenSense teapot demo
intZ_t teapotPacket[l14] = { '$', OxO02, 0,0, 0,0, 0,0, 0,0, Ox00, Ox00, "\x', "\n' };
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